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I(ir)lm + 5cmbébmm = 5cm7mm (étlé)mémm — lcm = 3cmb6mm
Ssi)m + 2cm3mm = bcm3mm (Ilg)cmme — Imm =13cm | mm
I(LrLr)lm + | lcm8mm =1 lcmY9mm gg)mémm —3mm = 5cm3mm
ZESC)m'7mm +5cm = Y9cm7mm 9(5:)m'7mm —2mm = 7cmb5mm
I(6I>cm6mm + bcm =l6cmbmm (Ilg)cm'7mm —Y9cm = 3cm7mm
S(Zr)lm + 8cm3mm = 8cm&8mm (8I<7:)m8mm —6cm = 2cm8mm
S(i)m + | 2cmImm = 17cm | mm (Ilg)cm()mm — becm = 5cmbémm
3(2:)m5mm + 3cm = 6cmbmm (Ilg))cm lmm — Ilcm = 9cmImm
ggznltmm +5mm = 3cmY9mm ('722)mC7mm —6mm = 7cm3mm

ZBT) O MEH S O—RD YA Y365 https://www.print365.net



